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Chapte  4 -  u ul ti e Assess ent

1. Write the following expressions using numbers.

a. Subtract forty-eight from one hundred twenty-six and then multiply by three

C I2k - L\%) * 3

b. Subtract forty-eight from one hundred twenty-six and divide the difference by three.

( 12. k - H 8  •- 3

c. Multiply the difference of one hundred twenty-six and forty-eight by four.

(\  Qp - x d

2. Write the following expression in order from least to greatest.

(121 - 61) x 7 (121   61)   - 5 (121 - 61) x 3

Least Middle
tiZi-LlVd

Greatest

Did you have to evaluate the expressions in order to put them in order? Explain.
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3. a.) Heather has a job as a babysitter. She charges $5 per hour. On Friday, she babysat for 3

hours. On Saturday, she babysat for 4 hours. Write an expression that models the amount of

money Heather earned all together. Use grouping symbols in your expression.

Expression: (5   m\) *  

b.) Evaluate the expression to find the amount of money Heather earned by babysitting,

C 3 + q\      1 6 = 36

Heather earned dollars babysitting on Friday and Saturday.

4. Eddie said,  A storage container is too large to fill with unit cubes, but it still has

volume because you can measure its length, its width and its height.  Is Eddie correct?

Explain your answer.

H   edche   Co ecb l-P an ob ect hc  Imo Vc,
uAdtvx c d Cca me -YKo  mea ofe.mm6

f\ncl i   VO l w.
5. Make an estimate. Write a number sentence to show how you estimated. Then solve.

Use your estimate to see if your answer makes sense. Use U.S. traditional multiplication

to solve the problem. , I

488 x 22 =? Estimate: zo = L\n
zz

Answer:    p

q i oo
cn 3 o

6. Make an estimate. Write a number sentence to show how you estimated. Then solve.

Use your estimate to see if your answer makes sense. Use U.S. traditional multiplication

to solve the problem. «
32

32 x 81 =? Estimate: 3C *  0 2,  QO v   I

Answer:
3 2-

33
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7. Theo is making welcome baskets for the new tenants m his apartment complex. He has 64
tea candles to put into 7 baskets. He wants to put the same number of candles in each basket.

How many candles should he put in each basket?
6

Candles Number model:

Explain what you did with the remainder.

1 - r  fe  xv  r beca  e V\e,   a  d

o   ec  o  c mcovvV \va  aa,-\ t   k .'  c d
. . " l . ? I - - . ? _   i • _ _ - i  .

(  Cc  ci\e  - -i-s do s oo  rncvV e s s .

8. Justin has 4 pounds of peanuts. He wants to fill 6 bags with peanuts for a party. If he wants

to put the same amount of peanuts in ever  bag, how much peanuts should he put in each

bag?

l . pounds of peanuts Number model: (a

Explain what you did with the remainder.

c o  pe v  o   >o i re  o d t - a    -( ac da .

2 1
9. Kristine is studying for a science exam. She studied for - hour on Tuesday, - hour on

3 3

Wednesday, and - hour on Thursday. How much did Kristine study for in all?
3 2.   + z,

hours. Number model: 3 O 3Kristine studied for
Z
-

. -L +    ..   z

3 T 3 3   3   3

10. Bryant spent 24 minutes exercising  t the gym. He spent - of the time on the stair

climber. How many minutes did Bryant spend on the stair climber.

Bryant spent   minutes on the stair climber.

Number model:

3



11. Rewrite each power of 10 m exponential notation and then solve.

a. 5x1,000 = 5x10 

b. 36x 10,000 = 36x10

c.

G?
45 x 1,000,000 = 45 xl0l-3 =

12. The rectangular prism below is partially packed with centimeter cubes. (a.)Find the volume

of the prism, (b.) Then describe the three different s rategies you could use to find the

volume.

Strategy 1: V   l) M 

Strategy2: 1 *  i* Y\ 

Strategy 3: (CO )' -  CU\  -bg COV  
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13. This drawing is a model of a fish tank. What is the approximate volume of the fish tank?

Volume: 2 A

\,3

Explain how you found the volume of the fish tank.

-
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